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Activity 2031 : Define Essential Use Cases
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Use case 1. Set time
Actor User
Type Evident

Pre-Requisites

SN Al A 2] AE= Time Keeping A EH O Of $HC}.

Typical Courses of Events

(A) : Actor, (S) : System

1. (A):AHES =2 ofelf &M0f Wef =Fe Mdo= JojZict .
(world-year-month-day-hour-minute-sec &)

2. (A):BHES =& ¢t=, 0|7, &=, &=, A0, d7[F =22 Fo{7irt &=
= DHES =8f o=, d7IE, Ao, &=, G=, 0|7 =22 O0{¢tCh BHES
Ao =2 DHER FIZ)/B&DHES =8 section0| XA SZ LY.

3. (A):CHEZ =2 Time Keeping EEZ SO0I7}7| & &L}

4. (S): Time Keeping ZE 2 =O0}ZtCL,

\&

2/

3
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Alternative courses of events

Al.

2t A-YSHO M C HES 28 Timekeeping 2EZ SOFZICH

Exceptional courses of events

El.

E2.

E3.

E4.

ES.

EG6.

year7f0] 2100 & M, B HES =2 T7tAI7|H 19700]| EIC},
1970 0, D HES £ Z42A7|H 19700| EICT,
monthzt0] 12 & I, B HES =2 37tAIZ|H 1 0] =ICt,
19, DHES 58 Z iAIE’IEﬂ 12 Of EICt,

day2t0| month 2£0f 2t 30,31 € [, B tH 2 =2 37HAZ7|H 1 0] =L},
month 2{0f 2t 1 Y I, D HES 531 ZAAN|7|™ 30,31 0] =IC}

hourgtO| 23H € I, B HES =2 T7tA|7|™ 0oH O] =IC}.
OH € [, DHES =] ZAA|7|H 23H O] =ICH,

minuteZt0] 59 & [}, BHE 531 Z7tA|7|™ 0 O] =ICt,
0 & I, D HES =2 daA|7|H 59 O] EICH

second?t0| 59 € I, BHE S =& 7=7H\|9'|':31 0 O| =Ct,
02 M, DHESZ =2 Z2AA|7|H 59 O =Lt

&

3
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Use Case 2. Change mode
Actor User
Type Evident

Pre requisites

2k MefEl B o K Q) ALE|OfOf ShTY,

Typical courses of events

(A) : Actor, (S) : System

1. (A) User’t C HES F2rt,

rir
rot
=
rx
=

2. (S) selectedSw[i+1]) & EA|SILL. (i

2-1. Timekeeping

(S) currentTime = HEA|BICE
(S) alarmIndicator = HA|PIC}.
(S) country[i] & EA|BIC},

2-2 Stopwatch

(S) stopwatchTime #H = ZtS EQIstCt

(S) stopwatchTime Zt 2 HA[DHCE
(S) selectedSwMode[l] HA|BHCE
(S) currentTime = ﬂiAIOHZL

\&

>




yz

Typical courses of events

2-3 Timer

(S) timerTime E—T—u =
(S) timerTime & EA|$H ':f

(S) selectedSwMode[i]) & HA|StC}.

(S) currentTime £ HEA|IC}.

2-4 Alarm
(S) €& =50 oE*%.*OI MY &0 J=X| =lstrt,
(S) alarmArray[0] & EAI St}

(S) seIectedSWMode[l] HA|BICE
(S) currentTime 2 ii*|°H:f.

o|s

L -

J@

_

C

—_

. 2-6 Brightness Control
2-5 World time . . o =
(S) countryTime[0] & FA|3HC} (S) brightness, brightLevel Bl=Zt2 &t
M OISt}
S) countryName[0] & EA|SHCY,
ES; curren¥Time é]EtEAI"'?'JEf. (S) seIectedSwMode[|] FASHES.

(S) brightLevel & ii*|°H:f.
(S) brightness & HEA|$HC,
(S) currentTime 2 EA| L},

Alternative courses of N/A

events

Exceptional courses of E1l. selectedSw[|2| QIEIA HL|E Z1ISHA E|H, selectedSw[0] E HA|BHCY,
kevents E2. M0 U= YEO| AUS Mff, YB ZEE TIY A, 1. - E St

\S

2/
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Use Case 3. Stop ringing
Actor User
Type Evident

Pre requisites

2 E= EO|MZt S2[1 A= HEO{OFBCt.

Typical courses of events

(A) : Actor, (S) : System

1. (A) ringO| =& [f, User= OtF HE(A, B, C, D H{E)0|Lt =ELF.

oot
LS AN 2

2. (S) ring0| = 2l X[ 327} X[LtX]|
2 HZASLY ringS "L

M, user?| 70| =0 2™ onOff

LS false

Alternative courses of events Al.ring0| 2 EIX| 37} X|GH2 ], onOff 4L 2 false2 HAESI D AHSHOE ring2 BE
Ct.
Exceptional courses of events N/A

2/

3
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Use Case 4. Start stopwatch
Actor User
Type Evident

Pre requisites

1. Stopwatch (STW) 2 E Q0| Me &|0fOf S},

2. XY Stopwatch 7t K| A E{0fOF BHLC},

Typical courses of events

(A) : Actor, (S) : System

1. (A) User?} B(start) HH ES F+ELC}.

ol

7t

o
_|T|_

2. (S) stopwatchTime 2£0| 10 msec tH¢ 2

Alternative courses of events

N/A

Exceptional courses of events

N/A

\S
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Use Case 5. Stop stopwatch

Actor User

Type Evident

Pre requisites Stopwatch (STW) 2 E X 0| Ma |0 OF BHC},

X Stopwatch 7} ZI8 & 0| O{OF BHCF,

Typical courses of events

(A) : Actor, (S) : System
1. (A) User?} B(stop) HES +2Ct.

2. (S) AXY{ StopwatchE LA| GX|A|ZICH,

Alternative courses of events

N/A

Exceptional courses of events

N/A

\S




Use Case 6. Reset stopwatch

Actor User

Type Evident

Pre requisites Stopwatch (STW) 2 E T Q10| M3 &|0f Of ST},

&% Stopwatch 7F = X| AMEf O Of L},

Typical courses of events (A) : Actor, (S) : System
1. (A) User?f D(reset) HES F2C}.

2. (S) A XY stopwatchTime 2 00= 00 002 E Z=7|2}3tLCL,

Alternative courses of events N/A

Exceptional courses of events E1l. Stopwatch 7| XI&§ S0|™ D(reset) HES =2 = X£7|3}E| K| =L}

\S
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Use Case 7. Lap stopwatch
Actor User
Type Evident

Pre requisites

Stopwatch (STW) 2= ZI /0| M3 z|0{Of siC},

S1XH Stopwatch 7 Tl AHEf O OF SHLCL,

Typical courses of events

(A) : Actor, (S) : System
1. (A) UserZ} A(lap) HE S F 2Lt

2. (S) ¥ Xl stopwatchTime S A& $HC},

3. (S) M & &l stopwatchTime = HEA|PICL,

Alternative courses of events

N/A

Exceptional courses of events

N/A

\S

3




Use Case 8. Select alarm num
Actor User
Type Evident

Pre requisites

Alarm 2E ZI0| MU =[O OF SHC},

Typical courses of events

(A) : Actor, (S) : System

1. (A) User? B(select) HES F2rCt

2.(S)B HE0| =% WOtC}, 4712 L E =tHS =Xt

12

Alternative courses of events

N/A

Exceptional courses of events

N/A




..\\

Use Case 9. Remove alarm num
Actor User
Type Evident

Pre requisites

Alarm 2 E ZI 10| M3 &[0 OF BHC},

Typical courses of events

(A) : Actor, (S) : System
1. (A) UserZt D(remove) HE S F 2Lt
2.(S) MEHE|O] = LEO| AZLE -2 XT|2}otC

3.(S) 2EE0 Y= YEO| St QUCHH, 22 indicatorE OFFE HHELCY,

Alternative courses of events

N/A

Exceptional courses of events

N/A

2/

\&

3
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Use Case 10. Set alarm time
Actor User
Type Evident

Pre-Requisites

UserZt Alarm ModeOf| X1 S 42

Typical courses of events

(A): Actor, (S): System

1. (A) User?t AHES FELL

2. (S) hour F&2| 280| 750t St

3. (A) User?l BHES F 2L}
4. (S) hour #==3t0| SIS
5. (A) User’t D HHEZ FELL.

6. (S) hour H==7}0| ZHABHCY




(;;

2/

Typical courses of events

7. (A)User’?t AHHES FE2CL}
8. (S) MinuteF&22| 40| 7t55tA oLt

9. (A)User’t BHEZ FE2rC}

I¥
rot
Il

10. (S) minute #4710
11 (A) User’l DHES F2C}.

12. (S) minute H=710| ZfABHCE

|_\
w
=
c
wn
]
N
O
O
rim
mjo
r
rn
il

14. (S) Hour H==¢t0| ZrABHC}

£

15. (A) User’l CHHEZ FETL}
16. (S) User?Zt &783t A|7tE K E SO

17.(S) User? Aot A|ZtE EO{ELH

Alternative courses of events

N/A

Exceptional courses of events

EL 2t ®olo] 70 A{TiZheCt #H AP 022 00} KO A2 AR S
E2. A% TH53H QOO M AHES S O 20 CHA| £7] YYo= Sotect

E3. NS Alam O 2 SO{AS AL X7| AN™ZIS A -& 0|C}

\S

\3
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Use Case 11. Turn on alarm
Actor System
Type Hidden

Pre-Requisites

User?} Set alarm time2 WS 22

Typical courses of events

(S): System

1. (S) SystemO{| A User?t A3t TimeS QI X|BHCY,

2. (S) SystemO| A HH3st TimeO| StLtZtE U2 M Alarm indicatorS Z4C}.

Alternative courses of events

N/A

Exceptional courses of events

N/A

\S
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Typical courses of events

1. (S) SystemO{| A alarm 4 7§ & StLt2te KLU =X

SystemO| A alarm indicator& L}

Use Case 12.Turn off alarm
Actor System
Type Hidden
Pre-Requisites N/A
(S): System
solgtCt,

2. (S) Sttt o™
Alternative courses of events N/A
Exceptional courses of events N/A

3
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Use Case 13. Set timer time
Actor User
Type Evident

Pre-Requisites

AF2XH7F mode S TimerM EH 8| OF $HC},

Timer= ™ X|AEj O OF S},

Typical courses of events

(A): Actor, (S): System
1. (A) User’t AHHEZ +ELL.

2.(S) Al, &, X ¥ = User 7} MEISH FAS HO

M

2/
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Use Case 14. Start timer
Actor User
Type Evident

Pre-Requisites

AFEXFZE TimerE Aot A

FEJ Of OF 3t Timer= HX|

S E{ O] OF SHC,

Typical courses of events

(A): Actor, (S): System

2. (S) SystemO| &7t A|ZHRH 1224 ZEASHT}

3.(S) Timer 2A|ZtES

Eo=Lt.

Alternative courses of events

Al. Timer?} start =l AEf

Ol A Mode& T 2Hll = Timer= =017t QL0{OF

Exceptional courses of events

EL Al £, % 2 g9

240l 00| & B2 EHOold gtol &

3
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Use Case 15. Stop timer
Actor User
Type Evident

Pre-Requisites

AFE X7} TimerE Startet 2 Ef O OF FH mode” Timerd|

10{OF B},

Typical courses of events

(A): Actor, (S): System
1. (A) User7} B HES FELC},

2. (S) System2 A[Zt ZAE HELL

r\l
mjo
Rl
Yal
Ot
)

3.(S) H=E A2t

4.(S) g2 AlZtE EO|=Lt.

Alternative courses of events

N/A

Exceptional courses of events

N/A

2/

3
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Use Case 16. Reset timer
Actor User
Type Evident

Pre-Requisites

AFEXEZE TimerS S Xlet & E 0] OF 5t mode”t TimerOf| RL0{OF SHCE.

Typical courses of events

(A): Actor, (S): System
1. (A) User?} D HHES F2C}
2. (S) Timer A|ZtS =7|38HE L

3. (S) Timer2| A[Zt2 HO{F L

Alternative courses of events

N/A

Exceptional courses of events

N/A

2/

3
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Use Case 17. Ringing
Actor System
Type Hidden
Pre-Requisites N/A

Typical courses of
events

(A): Actor, (S): System
1. (S) System2 XM L0 U= AlarmDt TimerZt JLE=X| EHQISHCL,
2. (S) Btef user”t X|’dt AlarmO| AHXY A| 7+ S LSICHH Ring= = 2L

3. (S) Bef userZt X|74 3t Timer2| A|ZHO| CF ZHA-310] 00| E[RICHH Ring2 = 2L}

Alternative courses of
events

Al. (S) System2 Alarm 2 E7} Ol A0 = 2F A|ZH0| £ S H 2 RingS S 2ICH
= R

A2. (S) System= Timer 2 =7} Ot A0 M= A|ZHO| Ct K| S B%

Exceptional courses of
events

E1. Alarmd} Timer2| RingO| 20| 2& 4% Alarm2| Ring0| M A| =IC},

2/

3
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Use case 18. Change world
Actor User
Type Evident

Pre - requisites

Typical courses of events

Alternative courses of events

Exceptional courses of events

N/A

2

S
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Use case 19. Turn on brightness control

Actor User

Type Evident

Pre - requisites 1. Brightness control (BC) ZE X0 | M | O] OF BHCE,
2. Brightness control (BC) 7| 50| 7%l AE O OFStCY,

Typical courses of events 1. (A) APEAFHES =8| BC 7|52 AL
2. (S)BC 7|50| ON MEH°|7<| 2tolotrt,
3. (S)BC 7|5 OFF Al, ¥17|4t2 level 00| L.
4. (S) BC indicatorE ON &E{ 2 Hp L}

Alternative courses of events N/A

Exceptional courses of events N/A

2

S
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Use case 20. Turn off brightness control

Actor User

Type Evident

Pre - requisites 1. Brightness control (BC) 2= XI Q0| M3l | O{Of StC},
2. Brightness control (BC) 7| 50| 7%l AE{ O OF SHCt,

Typical courses of events 1. (A)HES =2 BC7[s8 &L
2. (S) #7122 level 022 XM ZBILE
3. (S) Default 2t&H &t7| 2 otHES = otrt,
4. (S)BCindicator& OFF &E{{= HHELCL,
Alternative courses of events N/A
Exceptional courses of events N/A

2

S
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Use case 21. Control brightness
Actor User
Type Evident

Pre - requisites

1. Brightness control (BC) & ZIQ 0| M3l | OfOf StC},

Brightness control 7| 50| 74 %! &FE{O{ OF S,

Typical courses of events

(A) User 7t B HHES FEC}.
(S) brightLevel O| Z7}$tC},
(S) ME4 =l brightLevel 0f 252 Bt7|E EO{ELt

(A) User’l C HHES FELCL
(S) brightLevel 2 X2t

arhwNE

Alternative courses of events

Al. brightLevel2 3EtA| 7} & StLt= 2ot

Exceptional courses of events

N/A

2

S
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Use case 22. Change brightness
Actor System
Type Hidden

Pre - requisites

Typical courses of events

1. (S) OHAl 2 Sl AlZF 4= =HolotCt,
2. (S) A AlZE gtoll wer By 7[R S =ETtr,

Alternative courses of events

N/A

Exceptional courses of events

N/A
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Use case 23. Change SW
Actor User
Type Evident

Pre - requisites

current Mode” SW Of OFSHLY

Typical courses of events

1. (A) User?t BHE
2.(S) g sw E2E
3. (A) User’/t AHE
4. (S) SWE X ZetCt,

Alternative courses of events

N/A

Exceptional courses of events

E1. Timekeeping= Default 7| 5 22 ChangeSWA| | 2|& = g

Ct.

2

S




Activity 2032 : Refine Use Case Diagrams

N
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/ Change mode
/

Stop timer
Set timer time

Actor

Change brightness

Control brightness
Turn off brightness control

Turn On brightness control

Stop ringing

Set alarm time
Select alarm num

)

2/
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Activity 2033 : Define Domain Model
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«Business Object»
TimekeepingMode

«Strings-world
«Dates-currentDate
«Time=-currentTime

0.1

«Business Object=

has StopwatchMode
«Time=-currentTime
«Stopwatchtimes-stopwatch
«Stopwatchtimes-laptime
has 0.1
0.1
has
1 «Business Objects
Busi Obiect AlarmMode
«Business Objects 1 has
DWS controller /’/’0’]'-’ «Time»-currentTime
«int]|=-swhArray a has
«ints-currentMode L 1 0.1 1 |
«Time[l-alarmArray
«boolean»-alarmindicator 5 rF has
«Business Object»
TimerMode h
L «Timex-currentTime 0..
«Time=+timerTime [ o7 has
+rgfer 1
1
«Business Cbject»
Business Object: WorldtimeMode
« »
Ring «Object[]»-worldName
ool of «Dates-worldDate
“booleans-on «Time=-worldTime

«Business Object»
BrightcontrolMode

«booleanx-brightnass
«int»=-brightLevel
«Dates-currentTime
«Timexs-currentTime

Date

«int=-year
«int»-month
«ints-day

Time

«int»-hour
«ints-minute
«int»-second
«ints+m_second

)

\S
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Activity 2035 : Define System Sequence
Diagrams

N
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(A): A BIES =2 ofaf M0 Tt £- Moz

(world-year-month-day-hour-minute-sec &)

2. (A):BHES =8 o=, 0|7, =, 5=, HAOF, 47}

2 =22 HO{ZULh EE DHES =8 o=, 7t 2A[0},

A

T3, 9=, 0|3 =22 Fo{7ict,
(BHEZ H2E, DH'IEO g 2)

/IB&D 2 =9 section0|| LA SZHC}
3. (A):CHE §E1 Time Keeping ZEZ S0}717|2
gerot.
4. (S):Time Keeping ZE = ZO0}ZtC}

% System
User: Actor '
loop ) 1 : enterSetSection L
ey resrenpy 2 rewmword :
loop
3 : selectWorld Lo
L L L U
: 4 - displaySelectWorld '

ID.J,.) 5 increase&decreaseSection

6 : displaySection

TR R e et

----- !

P P PP PP PP Ty T FEF e PR P e

8 : return exit

)

2/




2. Change mode

-

(A) AFEXZ CHEZ FEL.
2. (S) MEi=l 471X| 7| 1=

=
OCRCIE REE HOFL}

[
0

=1
=
=
o

User: Actor

X

System

loop

1: changeMode()

e 2 displayMextMode) ﬂ

)

2/




3. Stop ringing
(A) : Actor, (S) : System

1. (A) ring0| & M, User= OFF HE
(A, B, C, D HHE)O[LI +ELL.

2. (S) ring0| = 2lX| 327} X|LEX| £
= [Mf, User?| 20| S0{ 2™ onOffil
= false2 HGSL0] ring=2 HE=CH

% System

User: Actor

1 : pressAnyBution

2 - return stopRinging

)

2/




4. Start stopwatch
(A) : Actor, (S) : System

1. (A) User?} B(start) HE 2 F+ELC}.

2. (S) XY stopwatch”?t 10 msec ¢t
= S71etot

N

% System

User: Actor
: 1 - startStopwatch()

2 displaystwTima()

2/




5. Stop stopwatch

(A) : Actor, (S) : System

1. (A) User?| B(stop) HES +2Ct
X

2. (S) |l stopwatchS LA|
Ct.

% System

User: Actor

1 : stopStopwatchi)

7| i 2 : displayStwTime()
—

N

2/




6. Reset stopwatch

(A) : Actor, (S) : System
1. (A) User? D(reset) HE =S F 2L},

2. (S) Xl stopwatch2| A|ZHS 002 00%
002 2 X7|3}8tC}

System

User: Actor
1 : resetStopwatch()
: 2 : displayStwTime(

)

2/




7. Lap stopwatch

(A) : Actor, (S) : System

1. (A) User”t A(lap) HE S F+ 2L}

2. (S) ® XY stopwatchl| A|ZhS M

ohCt.

3. (S) M &=l stopwatchl| A|ZHS &

A|BHLY,

% System

User; Actor

1 : lapStopwatch()

2 - displayLaptime() ﬂ

N

2/




8. Select alarm num

(A) : Actor, (S) : System
1. (A) User” B(select) HES F 2L}

2.(S)B HE0| =& WOtLY, 4712| &g =t
HE =AH 22 BA[SICL

User: Actor

R

System

loop )}

1 : selectAlarmMum()

2 displayAlarm)

N
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% System
9. Remove alarm num ,

User; Actor

(A) : Actor, (S) : System 1 - removeAlarmNum()

1. (A) User?| D(remove

T
rim
mjo
4r
il
inl

2.(S) MEE|0f QUi YBO| AT B X s o A O A
7|3fstet, |

3.(S) B0 Qs LEO| ShLt: QUCHH, &
2} indicatorE OFFZ HfIELCt,

)

2/




10. Set alarm time

(A): Actor, (S): System
1. (A) User’t A ES FELCt

2. (S) SystemO| X{22 SecondZ A|EE|0 =HE JAS
712 =L},

3. (A) Usert AHHES =2 Second, Minute, Hours StLHS

Met sio
4.(S) User7t MEtist ®ioig xzretct

5. (A) User’t BH|E(+), DHE(-)= =21 d&igt 2l gt
= S7HAZIALE G2 ZIE,

6. (S) 283t A|7H2 2O FLL

:DWS System

2 return

3 : changeValue

4 : return

A\

2/
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13. Set timer time

(A): Actor, (S): System

1. (A) Usert AHHE S S+ECt

2.(S) Al, &, &= B9 & User 7t HEID

3. (A) User?t BHE(+H) S +EC}

C}.

M

11. (S) MEE A|Zt2 £

X

System

User: Actor

1: enterSetSection

2 . displaySelectTime

loop )

3 : changeValue

)

2/




14. Start timer

(A): Actor, (S): System
1. (A) User7t BHE S F2CF,

2. (S) SystemO| &8st A|7HR B 124 ZEASH
Ct,

3.(S) Timer A|Zt& E O =LY

X

User: Actor

1 : startTimer

)

2/




15. Stop timer

(A): Actor, (S): System

1. (A) User?t B HHES FEL},

2. (S) System2 A|Zt ZHAE HE=CL

3.(S) HE A|7H2 M E i

o
4.(S) g2 AltE 2N ELL

X

User: Actor

2 : displayStopTime

N

2/




16. Reset timer

(A): Actor, (S): System

1. (A) User?t D HHES FEL}

2. (S) Timer A|ZtZ 7|3t E L.

3. (S) TimerQ| A[ZtZ EO{ &L

X

User: Actor

N

2/




18. Change World

1. (A)BHES =8| 2712 BAsCL
(@202 - G252 - 2o}
IP/E-

2. (S)CHe =27t2 s

X

System

User: Actor

1 : changeCountry()

2 displayMextCountry()

N

2/




1
2
3.
4

19. Turn on brightness control

. (A) AF2X7HES 2] BC 7| 5S ZCL
. (S)BC 7| 50| ON MEHOUEI 2folotLt,

(S) BC 7| OFF A|, &4 ZIS level 0O| L},
. (S) BC indicatorE ON &E{ 2 HpLCt,

R

System

User: Actor

1 : turnOnBC(Button)

3 : turnOnBCIndicator

)

2/




20. Turn off brightness control

1. (A %% =7 BC 7|58 -C}.
2. (S) 9713t2 level 022 XM H3IC
3. (S) Default 2t™ 87| £ =™
4

O
= = .
. (S) BCindicatorE OFF &/E{{ 2 HF#LC},

A

User: Actor

1 : turnOffFBC(Button)

System

LS R M S

3

s turnOffBCIndicator

)

2/




21.

)

Control brightness

A)HES =2 97 level2 1,2, 3HAZ =
=~ OHZ|-

(S) MEHEI 87| levelS HA|BHCL,

(S) MEH =l BT levelOf 2t 2t BV E =H
oLt

% System

User: Actor

2 . displayBrightness

)

2/




. Change SW

. (A) User?} B H
(S) Ct= sw &2
. (A) User?} A H

(S) SWE XN ZstLt,

% System

User: Actor

I mjo
rOI-

oM
rn r2 rjn

|

loop /E 1 : changeSW

T dispiaySWiviode bﬂ

3 : selectSW

T ispiaysWwoniofi U

)

2/




Activity 2038 : Refine System Test Case
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No

Test &5

Description

Use case

System function

Set time Test

currentState=1% I, AL&Xt2| incorrect?t & 2 0j|

gt

o
[S)

St

=
[

N

HE741970'F Of2H 2 LH2{7t=X|

2 20| 12& 0|2 0f 1E & SOt7H=X|

month 2t0fl %= day 1?7t EE[=X]

Hour®| 20| 23A|ZF O| 20| = 022 E0t7H=X|

Minute2| 2£0| 60 O|=0f 0022 EO0}7+H=X|

KOREA O| ™ Lt2} A& A| SINGAPOREZ 7H=X|

KOREA 0|3 LI2} A& A| AMERICAR 7H=X|

== 9| display7t H L2 =X

29| display/t & LI2=X|

29| display?t & L2 £X]|

AlQ| display”Zt & LI £X|

29| display?} & LI2=X|

Set time

R.1




Change mode Test

HE Heo| =ethE| 2 & O|R 0 X=X

Change mode

Stop ringing Test

ALERZL OFF HES /S M, 22|7H AKX =X

Et 7|SOIMel HE 7|SEL SUNHLE 7| S5t=X

20| 22 Iff, 3= F{0f &[] AHS22 OFF & =4

Stop ringing

Start stopwatch Test

AH2 X7} B HHES £3|| Stopwatch 7} A|Z} £ =X|

(Stop 2E) LAIFGR & SENOIM T 7 =l =X

1/100% CHQI2 EH | =X|

HAIE £ U= ¥l (59:59.99) O|A o2 ZH0| AL

Start stopwatch

R 2.1

Stop stopwatch Test

(+) AF2 X7t X HE S E9Y Stopwatch 7t HX| & =X|

() NI E HE 0|22 &# 22 Stopwatch 7} FX| & =X

(Stop 2E)B HESFE2H Stopwatch 7t i 7H &| =X

Stop stopwatch

R22




6 Reset stopwatch | AFE XLt 2|AIHES Sl 2EHIX| 2[A1(00:00:00)%| | Reset stopwatch R23
Test =X
7 Lap stopwatch AEXZLH HES X2 W, &X lap timeS 20| | Lap stopwatch R 24
Test =X
(lap RE)AEHEZS X2 M, AHX| AEHK] time
= B0 FEX|
8 Select alarm 471K e T MEHE SEO| 2tHZ HAFE=X| Select alarm num R 3.1
number Test
9 Remove alarm AT7FK| &Eh = MEHE| QF2E0| AK| | =X Remove alarm num R 3.2
number Test
10 set alarm time AFE X7 A™ T A ZH0] A E| =X Set alarm time R 33
Test
AT A ZH0] (23:59)LHO| A AHO| & =X|
11 Turn on alarm 471K e & stLtete MEE O JCHH  indicator 7F | Turn on alarm R 34
Test(indicator AKX =X
Test)
12 Turn off alarm 471X L2k = M7= 22to| QICHH, indicator 7F 7H K| | Turn off alarm R 3.5

Test




13 Set timer time Test AHEREZE K|S ek EFOIH A|7HO| A™ & =X Set timer time R 4.1
14 Start timer Test EfO|H 2| A[ZHO| ZAE|=X] Start timer R 42
CHE D EO|Ax EfO|M 7t 2S5 StA U=X|
AlZHO| Cf A S ZrASHK]| =X
15 Stop timer Test EtO|HO| A|ZtO| EFO|H E FX|ME M A|ZHO| ZASHX| B=X| Stop timer R 43
EFO|HO| A|ZHO| HX| AEHOIA CHE REZ HEE 2 W AE7F R K| &
=X
16 Reset timer Test EtO|{ 2| A|ZHO] 00:00:00 S 2 HHY=X| Reset timer R 44
17 Ringing Test AHEALS| UEO| FHAIO| EE2|=A] Ringing R45




18 Change World Test B HHE Al Li2k=0f &= A2t HHY = X Change World R 5.1
19 Turn on bright control Test | incorrect?t 22 0f 2|8 Z{X|X| %=X Turn on brightness control | R 6.1
20 Turn off bright control Test | incorrect?t 22 0] o8| 7HX|X| &=X| Turn off brightness control | R 6.2
21 Control brightness Test 271 22 3TA MM 0THA = HHY =X Control brightness R 6.3
22 Change brightness Test | AlZtol 2 87| =2 7|50| M2 2-SSt=X| Change brightness
23 Change SW Test o|0] A+ &2l sw7} X M EHE|X| Q=X Change SW R 7.1

AZEQIO HEHO| MYUMZ=O| A S ==X

OFX[2 sw 2tHOM C HHES 32 I, X #HWf sw

2 F07h=X




Activity 2039 : Traceabllity Analysis
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’ f ERnsEan Use Case System Operation
Requirements

Set time >

Set time _ 7 — »reqSetTime(button: int)
Change mode " Changemode — = reqChangeMode()
Stop ringing ———* Stop ringing /Q reqChangeValue(button: int)
Start stopwatch " startstopwatch S T4 reqStopRinging()
Stop stopwatch —* Stop stopwatch . n _;,7/'::’/',--+reqStarlStopwatch()
Reset stopwatch ——* Resetstopwatch T reqStopStopwatch()
Lap stopwatch ——* Lapstopwatch ———» reqResetStopwatch()
Select alarm number ——> Select alarm number ~——» reqlapStopwatch()

Remove alarm number ——* Remove alarm number - regSelectAlarmMNum()
- regRemoveAlarmNum(currentState: int)

——— — — » regSetAlarmTime(button : int)

Set alarm time —* Setalarmtime

Turn on alarm (show indic » Turnonalarm (show indic

ator) ator) ___— regSefTimerTime{button : int)
Turn off alarm —————* Tumoffalarm _ _y reqStartTimer()

Set timer time ——* Settimer time ,- reqStopTimer()

Start timer ——————— Starttimer v reqResetTimer()

Stop timer —————» stop timer = __y reqChangeWorld()

Reset timer — " Resettimer - v reqTumOnBC()

Ringing - » Ringing _y reqTurnOfBC()

Change world —————— Change world = _y reqControlBC()

Lir reqChangeSWibutton: int)

Turn on brightness confrol  —————* Ty on brightness control
pressButton(button - int)

Turn off brightness control ——————*  Tym off brightness control

Control brightness ——> Control brightness ____» controlAlarmindicator()
Change brightness —————— Change brightness -
Change SW ~ " Changesw -
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